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‘There are certain conditions that may lead to a low income elasticity of demand for a
commodity. Highlight such conditions. (10 marks)

One of the measures that may be taken to reduce unemployment s to promote self”
employment among the youth. Explain the ways in which such self employment may
be encouraged. (10 marks)

One of the ways of raising government revenue is through foreign borrowing. Explain
the benefits that a country may derive from adopting this method of raising revenue.
(10 marks)

For money to function as a store of wealth it should fulfil certain conditions. Outline
these conditions. (10 marks)

Explain the factors that may account for the scarcity of capital that is usually
experienced by many developing countrics. (10 marks)

One of the measures that may be taken to reduce rural / urban migration is to improve
employment levels in the rural arcas. Explain the ways in which such a goal may be
achieved. (10 marks)

One of the basic questions that a producer should address is where to produce. Explain
the factors that should be considered in making such a decision. (12 marks)

Explain the ways in which a firm may realise managerial economies of scale.
(8 marks)

One of the methods that a country may adopt for the purposes of income redistribution
is wage harmonisation. Explain the factors that may limit the effectiveness of this
‘method. (10 marks)

Explain the measures that may be taken to encourage occupational mobility of labour
ina country. (10 marks)
Highlight the conditions under which a firm may incur higher operational costs that it
may have planned for. (10 marks)

Fxplain the negative effects of a monopolistic market structure on the consumer.
(10 marks)
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7. (8  Thediagram below shows the income cxpenditure conditions in a country.
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@) Identify the gap labelled (s) on the diagram.
(i) Highlight the fiscal measures that may be used to close the gap.
(8 marks)

() Explain the factors that may lead to a negative shift in the supply curve of a commadity.
(12 marks)

THIS IS THE LAST PRINTED PAGE

2908/305 3
July 2016




